Berechnung:

AN1= (4.90m + 0.93n/3 - 0.36m) x 0.40= 1.94m => Mind. 3.0m
AN2= (4.90m + 0.93nV3 - 0.36m) x 0.40= 1.94m => Mind. 3.0m

AO1= (4.90m - 0.36m) x 0.40= 1.82m => Mind. 3.0m
AO2= (5.83m - 0.31m) x 0.40= 2.21m => Mind. 3.0m
AO3= (6.50°m + 0.52°m/3 - 0.04m) x 0.40= 2.66m => Mind. 3.0m
AO4= (6.50°m + 0.52°m/3 - 0.02m) x 0.40= 2.66m => Mind. 3.0m

AW1= (6.50°m+ 0.52°m/3 - 0.12m) x 0.40= 2.62m => Mind. 3.0m
AW2= (6.50°m + 0.52°m/3 - 0.33°m) x 0.40= 2.54m => Mind. 3.0m
AW3= (7.53m - 0.33°m) x 0.40= 2.88m => Mind. 3.0m

AW4= (5.80m - 0.33°m) x 0.40= 2.19m => Mind. 3.0m

AWS5= (4.90m - 0.36m) x 0.40= 1.82m => Mind. 3.0m




